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A. 12

B. 21

C.18

D.9

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_y44QoZgyyzhp
https://dl.doubtnut.com/l/_NtBY6EzByetj
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Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NtBY6EzByetj
https://dl.doubtnut.com/l/_dXpGiADpSKsm

Answer: B

° Watch Video Solution

4.y=3—2z —z°, .. .x =

A9

B.3

C. 25

— 1,z =2



https://dl.doubtnut.com/l/_dXpGiADpSKsm
https://dl.doubtnut.com/l/_ZntCsQ0sIb2j

D. 36

Answer: B

o Watch Video Solution
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https://dl.doubtnut.com/l/_ZntCsQ0sIb2j
https://dl.doubtnut.com/l/_tjL9xAnE2fTM

Answer: D

o Watch Video Solution

D. 2

Answer: B



https://dl.doubtnut.com/l/_tjL9xAnE2fTM
https://dl.doubtnut.com/l/_X8uu7DItTcxk

° Watch Video Solution
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Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_X8uu7DItTcxk
https://dl.doubtnut.com/l/_ROu3EKAW0Kzi

8.y=sinz,.....z =0,z
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Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ROu3EKAW0Kzi
https://dl.doubtnut.com/l/_CrMrbN0PdrTa

2

9.2y ==c",....c = c,x = 2c where c>0

A. 2¢*
B.c. log 2
C. 2c. log 32

D.c%. log4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LRI0tqLITtC8

f(z) = 3z2, if 0<z<2
=16 — 2z, if x > 2,

10. If

then area bounded by the graph of y = f(z),
the X-axis and the line x =3 is (in sq. u.)

A 12

B.19

C.17

D. 24

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LlibpqPMdziZ

1. Area under the curve z = at®, y = 2at

fromx=0tox=ais

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Fp7QMQnqtv3J
https://dl.doubtnut.com/l/_ohHXRBXGbcVM

12. Area in the first quadrant bounded by the
hyperbola 9z* — y* = 36, the X-axis and the

lines x=2,x=41is

A.6./3
B. 10g(3 + \/E)
C.64/3 — 3log(2 + +/3)

D. None of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ohHXRBXGbcVM
https://dl.doubtnut.com/l/_XpW6DQJobowh

13. Area bounded by the curve y = z* — 2z

and the liney=2x s

125

6
32

3
C.36

D. 28

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XpW6DQJobowh

14. Area of the region between the curve

y = x° — 3z and the line y = 2x is

125

6

49
"3

c 84
"3

5. &7
-3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Mb7Y8BSpXPE2
https://dl.doubtnut.com/l/_Akq8pIrqltT7

15. Area of the region bounded by the
parabola ay = z?, the X-axis and the

ordinates at x=a,x=2ais

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Akq8pIrqltT7
https://dl.doubtnut.com/l/_igPG3kN2RS1k

16. Area bounded by the parabola ay® = «z,

the X-axis and the ordinate at x=a is

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_igPG3kN2RS1k

17. Area enclosed between the curve

ay = 3(a2 — :132) and the X-axis is

A. 4a?

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_knnSQ429j1aI
https://dl.doubtnut.com/l/_kPYmkM4nUwhm

18. Area enclosed between the curve y = z?

and the liney=xis

>

N~ N w o~ oo

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kPYmkM4nUwhm

19. Area bounded between the curve z2 = Y

and the liney =4xis

>

N = DNW W w
= los @l g

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2sF1SD1LQ1gi
https://dl.doubtnut.com/l/_Y60vHUFojHOo

20. Area enclosed between the curve y? = z

and the liney=xis

N w >
= o= W -

o

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Y60vHUFojHOo

21. The area bounded by the parabola

y* = 8z, the x-axis and the latusrectum, is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6i1bZpqDhNQ4
https://dl.doubtnut.com/l/_wjqWoaLSAJl9

22. Area enclosed between the curve y? = 16z
and the chord BC, where B = (1,4) and

C = (9,12) is

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wjqWoaLSAJl9
https://dl.doubtnut.com/l/_dnJpPxuXxCfO

23. Area of the region enclosed between the

curve z = 1 — y? and the Y-axis is

>

W~ Wl Wk w| o

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dnJpPxuXxCfO

24. Area enclosed between the curve

r = 2y — y* and the Y-axis is

Wl Wl w|ot w|e

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FA3VlEFVH3NU
https://dl.doubtnut.com/l/_3b1Sum2NsUgz

25. Area enclosed between the curve

z? + 4y = 4 and the X-axis is

32
A5
16
B. 3

8
C'§
b 2
"3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3b1Sum2NsUgz

26. Area enclosed between the curve

y = z? — 5z + 15and the liney = 3z + 3is

>
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Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nQXEHUVO9FMu
https://dl.doubtnut.com/l/_acLXSSSb7m7I

27. Area of the portion of the parabola
y* = 4az included between the X-axis, the

ordinate at x = 2a and its latus rectum is

a2 (2ﬁ _ 1)

A. 3

4a? (2ﬂ _ 1)
B -

842 (2\/5 _ 1)
C. -

D. None of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_acLXSSSb7m7I

28. If the area of the region enclosed between
the curve y = 32% — 4z + ¢, the X-axis and
the ordinates at x=1,x=3is 20, then: c =

AO

B.3

C.5

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_acLXSSSb7m7I
https://dl.doubtnut.com/l/_cmdXcZWs07Kk

29. Area above the X-axis, bounded by the

circle z? +y? — 2axz = 0 and the parabola

v? = azxis

D. None of these

Answer: A

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_cmdXcZWs07Kk
https://dl.doubtnut.com/l/_w0Wl9B8ArU7y

30.The area bounded by the curves y = sin x,

y= cos x and y-axis in 1st quadrant is -

A3y2—1

B.2

C.2— /2

D.,/2 -1
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_w0Wl9B8ArU7y
https://dl.doubtnut.com/l/_9aQza7Lic8nT

31. Find the area of the region included

between the parabolas 3* =4axz and

z? = 4ay, wherea > 0.

16a2
3

8a?
3

4a?
3

CL2

3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9aQza7Lic8nT
https://dl.doubtnut.com/l/_bIDmKjsw98cm

32. If the area bounded by the parabola
z? = y and the line y = 4 is divided into equal

parts by the liney=c,then: c=

A1
B. /4
C. /8
D. /16

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_bIDmKjsw98cm
https://dl.doubtnut.com/l/_arNsECzUHBoj

33. Find the area of the smaller part of the

circle z? + y® = a’cut off by the line

Answer: B



https://dl.doubtnut.com/l/_arNsECzUHBoj
https://dl.doubtnut.com/l/_sHBLKDOwNOtR

| & Watch Video Solution

34. Smaller area enclosed by the circle
2 2 2 : .
x4+ y° =a“and thelinex +y=ais

2

A %(W _9)
2

B. %(ﬂ' + 2)
2

C. %(2 ~ )
2

D. %(w _9)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sHBLKDOwNOtR
https://dl.doubtnut.com/l/_3XTZDKT7dZno

35. Find the area of one of the curvilinear
triangles formed by the curves

y = sinz, z = cos ! y and the x-axis.

A2+ 4/2
B.2 — /2
C.2+ 242

D.21/2

Answer: B

I ° Watch Video Solution


https://dl.doubtnut.com/l/_3XTZDKT7dZno
https://dl.doubtnut.com/l/_lccWb1ZzvElo

36. Area of smaller part in the first quadrant

bounded by the semi-circle y = 1/4 — z?, the

line y = z4/3 and X -axis, is

Answer: B

| = |


https://dl.doubtnut.com/l/_lccWb1ZzvElo
https://dl.doubtnut.com/l/_OGnCH9xoN8lh

I &9 Watch Video Solution I

flg) ==?, if 0<x<1
=z, if z>1,

then area above X-axis, bounded by the line x =

37.1f

4 and the curve y = f(x) is

Al

B.2

C.5

D. None of these

Answer: C


https://dl.doubtnut.com/l/_OGnCH9xoN8lh
https://dl.doubtnut.com/l/_wz3m8Jp0WFGu

° View Text Solution

38. Area bounded by the parabolas y = 422,

9y = z* and the liney = 2is

20+/2
3

10+/2
3

40+/2
3

D. None of these

Answer: A

| 8


https://dl.doubtnut.com/l/_wz3m8Jp0WFGu
https://dl.doubtnut.com/l/_PDS801tkTSmW

39. Indicate the region bounded by the curves
y = x%, y =z + 2 and x-axis and obtain the

area enclosed by them

| ot oot | ot | ot

Answer: C

[ 1


https://dl.doubtnut.com/l/_PDS801tkTSmW
https://dl.doubtnut.com/l/_taeLJ7GRVqro

I 0 Watch Video Solution

40. The area bounded by the curve

y = 2z — z* and the liney =-x is

Answer: A

l ° Watch Video Solution


https://dl.doubtnut.com/l/_taeLJ7GRVqro
https://dl.doubtnut.com/l/_Dpih3P9Xpq16

41. The area of bounded by the -curve

y = logx, the x-axis and the linexz = e is

A4

C.1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Dpih3P9Xpq16
https://dl.doubtnut.com/l/_LZmrG4AUYMsY

42.x=0Td ¢z =27r > H deb y = cos ¢ U o
& P1 SA%d ST1d HIfAT |

A. 2

B.4

C.6

D.8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LZmrG4AUYMsY
https://dl.doubtnut.com/l/_QsZhZUKttJe4
https://dl.doubtnut.com/l/_SrB6bUwu60ob

43. Area bounded by the semi-sircle

y = /4 — z*, and its diameter y=0,is

A 2w

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SrB6bUwu60ob
https://dl.doubtnut.com/l/_QQDMgOZ6RkaM

44.The area of the figure bounded by right of

theliney = « + 1, y = cos x and x-axis is :

>

@

Y N
ot | w N

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QQDMgOZ6RkaM

45. Find the area bounded by the curve

T
Yy = sin” 'z and the linez = 0, ly| = 3

A2
B.4
C.8

D. 16

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_m9P3AaxPhTFi
https://dl.doubtnut.com/l/_riDgIT5fCckk

46. Area of the region bounded by the curves y

T
=tan x,y=cotxand X-axisin ) < z < 5 is

A.3log 2
B. log 2

C.2log 2

U

D.
8

log 2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_riDgIT5fCckk

47. What is the area bounded by the curves

y=¢€e",y =e " andthestraightlinez =17

1
Ae+ —+2

€

1
B.e + — — 2

€

1
Ce——+2

€

1
D.e — — — 2

€

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vfXNno8hz4nR
https://dl.doubtnut.com/l/_D27l4aaO3e69

48. The area bounded by the curve

r =2 — y — y and Y-axis is

Y
N|w ot NN |

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_D27l4aaO3e69

49, The area bounded by the curves y = sinz,

y = cos  and y-axis in 1 quadrant is -

Al

B.2

C.3

D.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hoNCdsnCZdd6
https://dl.doubtnut.com/l/_w6pOa3euucKE

50. Find the area of the region enclosed by the

curves y = z logzandy = 2z — 2z2.

N @

o
NCY S Gy N =
o gle Bl= gl

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_w6pOa3euucKE

51. The slope of the tangent to a curve
y = f(x) at (z, f(x)) is 22 + 1. If the curve
passes through the point (1, 2) then the area
of the region bounded by the curve, the x-axis

d theli =11 (A)E(B)E(C)E(D)l
and thelinex = 1is 5 : 6

@ >
S|~ oo o o

N

O
o

Answer: A


https://dl.doubtnut.com/l/_GoI6xKLxZAp1

° Watch Video Solution

52. The area (in square units) bounded by the

curve y* = 8z and z? = 8y, is

Answer: D

| 8 l


https://dl.doubtnut.com/l/_GoI6xKLxZAp1
https://dl.doubtnut.com/l/_64SP9dupC2ix

53. Area bounded by the curves y = z — z?

and X-axis, between Y-axis and the line z = 1,

IS

o >
SR W= N~ o ot

N

o

Answer: D

[ 1


https://dl.doubtnut.com/l/_64SP9dupC2ix
https://dl.doubtnut.com/l/_SPgqraFpG03G

I D Watch Video Solution

54. The area bounded by the x-axis and the

curvey = 4 — z% — 3is

o >
Wk B|w N w

N

o
~

Answer: C

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_SPgqraFpG03G
https://dl.doubtnut.com/l/_wvSWbE32Zllb

55. Area bounded by the zy® = 1, X-axis and

thelinesx=1,x=21is

A4(v2- 1)
5.4(v2 + 1)
c.2(v2- 1)
0.2(v2+ 1)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wvSWbE32Zllb
https://dl.doubtnut.com/l/_rpBAjaggeTEJ

56. Find the area bounded by the x-axis, part of

8
the curve y = (1 — —2) , and the ordinates
x

at £ = 2andz = 4. If the ordinate at x = a
divides the area into two equal parts, then find

a-

B. 2+/2
C.3V/2
D. 4./2


https://dl.doubtnut.com/l/_rpBAjaggeTEJ
https://dl.doubtnut.com/l/_FE8YUiF87Sn3

Answer: B

o Watch Video Solution

57. If a curve y = a,/x + bz passes through
the point (1,2) and the area bounded by the

curve, line x = 4 and X-axis is 8 sq units, then

Aa=30b=1
B.a=3,b= —1
Ca= —3,b=1


https://dl.doubtnut.com/l/_FE8YUiF87Sn3
https://dl.doubtnut.com/l/_nG3oABxgaPJC

Answer: B

o Watch Video Solution

58. If the area bounded by the curve y = 2,

the X-axis and the line z = 2!/3 is divided into

two equal parts by the line x = a, then : a=

Al
"6


https://dl.doubtnut.com/l/_nG3oABxgaPJC
https://dl.doubtnut.com/l/_G0d6nPIpj9ZL

Answer: B

o Watch Video Solution

59. Find the area of the smaller region

2 2
bounded by the ellipse — + v _ land the
a’> b
. T Y
line — 4+ — =1
Ine p + b
A . b
.5 7a
B . b
.5
1 1

C. Zwab — Eab


https://dl.doubtnut.com/l/_G0d6nPIpj9ZL
https://dl.doubtnut.com/l/_IGuxN7OTsic9

Answer: C

o Watch Video Solution

60. Area enclosed by the curve z’y = 36, the
X-axis and the lines x=6and x=9, is

A2

B.1

C.4


https://dl.doubtnut.com/l/_IGuxN7OTsic9
https://dl.doubtnut.com/l/_kaFUQ3GR3ftp

D. None of these

Answer: A

° Watch Video Solution

61.1f a < b, then area under the curve zy = ¢’

, the X-axis and the ordinates at a and b is
a
A. 2. lo (—)
S\ b

b
B.c%. log| —
C Og(a>

C.c*. log(ab)


https://dl.doubtnut.com/l/_kaFUQ3GR3ftp
https://dl.doubtnut.com/l/_OBphZG7bUdcG

D. None of these

Answer: B

o Watch Video Solution

62. The ratio of the areas between the curves
y =cosx and y = cos2x and x-axis from
0t Uiy
r=0tox = —is
3
A.l:2

B.2:1


https://dl.doubtnut.com/l/_OBphZG7bUdcG
https://dl.doubtnut.com/l/_AlWGe0r3V3t5

C.v/3:1

D.1:4/3

Answer: B

O Watch Video Solution

63. If the area above the x-axis, bounded by the
3

curves y = 2" and x = 0,and x = 2 is log. (2)
08

)

then the value of k is

Al
"2


https://dl.doubtnut.com/l/_AlWGe0r3V3t5
https://dl.doubtnut.com/l/_gS7tEbiu3Pao

B.1

D.2

Answer: B

o Watch Video Solution

64. Area bounded by the curve

y=2+x,y=2—xandx=2is

A3


https://dl.doubtnut.com/l/_gS7tEbiu3Pao
https://dl.doubtnut.com/l/_37XDc0vRRldt

B.4

C.8

D. None of these

Answer: B

o Watch Video Solution

65. Area under the line 4z — y + 2 = 0, above
the X-axis, bounded by the lines x =0 and x =3

is (in sq. units)


https://dl.doubtnut.com/l/_37XDc0vRRldt
https://dl.doubtnut.com/l/_43EONHyTwNlv

A. 12

B. 24

C. 25

D. None of these

Answer: B

° Watch Video Solution

66. Area bounded by the line 2z + y = 4, the

X-axis and the ordinateatxz = — 2is


https://dl.doubtnut.com/l/_43EONHyTwNlv
https://dl.doubtnut.com/l/_MUHghCHShOeR

A. 12

B.15

C.16

D. None of these

Answer: C

° Watch Video Solution

67. Area above the X-axis, bounded by the

parabola y* = 9z fromz = Oto z = 3is


https://dl.doubtnut.com/l/_MUHghCHShOeR
https://dl.doubtnut.com/l/_xq7J8Y99hyjz

A.3,/6
B.6,/3
C.10,/3

D. None of these

Answer: B

o Watch Video Solution

68. Area bounded by the parabola z* = — 4y,

the X-axis and the lines x=0,x=4is


https://dl.doubtnut.com/l/_xq7J8Y99hyjz
https://dl.doubtnut.com/l/_TQXwsq6VQNlv

w| oo w|5‘

C.8

D.6

Answer: A

o Watch Video Solution

69. Area bounded by parabola z? = g, the Y-

axis and the linesy=0,y=4is


https://dl.doubtnut.com/l/_TQXwsq6VQNlv
https://dl.doubtnut.com/l/_16iCWYq5OONr

C.6

D.8

Answer: B

o Watch Video Solution

70. Area bounded by the parabola z? = 16y

and thelinex — 2y = 0'is


https://dl.doubtnut.com/l/_16iCWYq5OONr
https://dl.doubtnut.com/l/_HMMKjjNPZZf8

B.6

C.10

D. None of these

Answer: A

o Watch Video Solution

71. Area bounded by the curve y = z? + = — 6

and the X-axis is


https://dl.doubtnut.com/l/_HMMKjjNPZZf8
https://dl.doubtnut.com/l/_O4cFXOYQpE3j

D. None of these

Answer: C

o Watch Video Solution

72. Area bounded by the lines ¢ = 2y, y = 2z

and x=41s


https://dl.doubtnut.com/l/_O4cFXOYQpE3j
https://dl.doubtnut.com/l/_QD842DXVlkoy

A 14

B.13

C.10

D. 12

Answer: D

o Watch Video Solution

73. Area bounded by the lines y = 2z, y = 4z

and x=21is


https://dl.doubtnut.com/l/_QD842DXVlkoy
https://dl.doubtnut.com/l/_F7Wtj7rEbAdX

A.8

B.4

C.5

D. None of these

Answer: B

° Watch Video Solution

74. Area bounded by the parabola 3y = z?,

the X-axis and the lines x=2,x=3 is


https://dl.doubtnut.com/l/_F7Wtj7rEbAdX
https://dl.doubtnut.com/l/_2rOuP3V82HVB

[\&)
Nej

~ =
SIS

= O

Answer: D

o Watch Video Solution

75. Area between the parabolas y* = pz and

z? = quis


https://dl.doubtnut.com/l/_2rOuP3V82HVB
https://dl.doubtnut.com/l/_NFukRiSwX1yC

Answer: B

o Watch Video Solution

76. FInd the area bounded by the curves

y? = 9z and z? = 9y.


https://dl.doubtnut.com/l/_NFukRiSwX1yC
https://dl.doubtnut.com/l/_gFpBJoaoKlpD

A.36

B.18

C. 27

D.6

Answer: C

o Watch Video Solution

77. Area between the parabola y* = z and the

linex=31is


https://dl.doubtnut.com/l/_gFpBJoaoKlpD
https://dl.doubtnut.com/l/_9DynSYl5stno

A 4./3
B.2./3
C.64/3

D.5,/3

Answer: A

° Watch Video Solution

78.x=0Ud z =27r S ALY db y = cos A Y

&1 &1 &hel STd HIfTT |


https://dl.doubtnut.com/l/_9DynSYl5stno
https://dl.doubtnut.com/l/_flNqkagIqYrE

A2

B.4

C.3

D.5

Answer: B

o Watch Video Solution

79. Area bounded by the curve zy = x 4 4,

the X-axis and the lines x=1,x=4is


https://dl.doubtnut.com/l/_flNqkagIqYrE
https://dl.doubtnut.com/l/_Jgp9XnGbnhuw

A.3+5log 4

B.4+4log 4

C.3+4log4

D.3+3log 4

Answer: C

o Watch Video Solution

80. Area bounded by the curve xy = 16, the X-

axis and the lines x=2,x=4is


https://dl.doubtnut.com/l/_Jgp9XnGbnhuw
https://dl.doubtnut.com/l/_W3U3JYw708Xt

A.2 +4 log 3

B.8log 2

C.16 log 2

D.4 log 2

Answer: C

° Watch Video Solution

81. Area enclosed by the curve y = sin® z, the

X-axis and the linesz = 0,z = 7 /2is


https://dl.doubtnut.com/l/_W3U3JYw708Xt
https://dl.doubtnut.com/l/_dgqF3AGhai9F

c
4

D. None of these

Answer: C

° Watch Video Solution

82. Area under the curve y = zsinz?

bounded by the linesx=0and z = /7 /2is


https://dl.doubtnut.com/l/_dgqF3AGhai9F
https://dl.doubtnut.com/l/_61fkdvCsjjjv

A. 0.3

B.0.4

C.0.5

D. 1

Answer: C

o Watch Video Solution

83. Area bounded by the parabola z* = 4y

and its latusrectum is


https://dl.doubtnut.com/l/_61fkdvCsjjjv
https://dl.doubtnut.com/l/_YwOwY39msiZF

n @

O
w| ot — ool oo ol
| oo|® | |

Answer: B

o Watch Video Solution

84. If the area enclosed between the parabola
y* = 4z and the line y = mx is (1/3) sq. unit,

then: m=


https://dl.doubtnut.com/l/_YwOwY39msiZF
https://dl.doubtnut.com/l/_18w1xHG15zvV

Al

B.2

C.3

D. 4

Answer: B

° Watch Video Solution

85. If the area bounded by the parabola
a2

y2 = 4ax and the line y=mx is i) sg. units, by


https://dl.doubtnut.com/l/_18w1xHG15zvV
https://dl.doubtnut.com/l/_FryNXnnPHw0M

using integration find the value of m.

Al

B.2

C.3

D.4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FryNXnnPHw0M

8. Area bounded by the curve

y = (xz — 1)(z — 5) and the X-axis is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5OHpoStVa9lJ
https://dl.doubtnut.com/l/_tlmuGvCy2V1n

87. Area of the region bounded by the curve

y = 2 — 5z + 4 and the X-axis is

Y
N[O NS ot | w

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tlmuGvCy2V1n

88. If the area enclosed between the curves
y = az’andr = ay2(a > 0) is 1 square unit,

then find the value of a.

A3

B.

D.

1
V3
C.~
3
2
V3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5DJYVNGP5p3z

89. If the area bounded by the -curves

9
y = — z° and line y = mz is equal to 3

sg.units , then m may be

C.2

D. 4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7DQnSgY1sXJt

90. The area of bounded by the curve

y = logx, the x-axis and thelinex = e s

B.1
1
Cl—-—

1
D.1+ —

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_khsZdxTfYRFt
https://dl.doubtnut.com/l/_Xh9AymR4wCZ8

91. Area under the curve y = /16 — z°

between x =0 and x =4 in the first quadrant is

A. 8T
B. 167

C.4rm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Xh9AymR4wCZ8

92. Area bounded by the curve y = log x, the X-

axis and the linex=1,x=3is

A.2 +log 27

B.—2+ log9

C.—2 + log 27

D.log 18

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_e5bZIHow8gM6
https://dl.doubtnut.com/l/_fjO3Sg76F4r3

93. Area bounded by the curve y = log x, the X-

axis and the lines x=e,x=2e is

B.log 2

C.e.log?2

D.2e.log 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fjO3Sg76F4r3

94. Area bounded by the curve y = sin ™

the X-axis and the line 2x=1s

Answer: D

1

L,

o Watch Video Solution



https://dl.doubtnut.com/l/_6XTXXlLctm0p
https://dl.doubtnut.com/l/_qcUMcwd30Xrm

95. Area bounded by the curve y = tan !z,

the X-axis and the linex=11is

>

+ log+/2

@

V2

0

— log /2

o
N N N

— log+/2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qcUMcwd30Xrm

96. Area bounded by the curve y = e”, the X-

axis and the lines x=0,x=2is

Ae’+1

B.e —1

C. 2e

D.e? — 1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_StXMDH3Jg1Ap
https://dl.doubtnut.com/l/_QEechpMpDwzG

97. Area bounded by the curve y = e~ 7, the X-

axis and the lines x=0,x=1is

1
Al+ —
e

1
B.1 - —
e

C.e+1

D.e — 1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QEechpMpDwzG

98. Area bounded by the curve

y=2z2, if £ <0
=2z, if =z >0,

and theliney=9is

A155
"4

153
B. —

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5pbRYriLlSJ8

Multiple Choice Questions Part B Mastering The

Best

1. The area bounded by the curve y = 2z — z?

and the liney=-xis

9 .
A. BY sg. units
B. 43 sq. units

6

35 :
C. 3 sg. units

D. none of these

Answer: A

| oo |


https://dl.doubtnut.com/l/_lmU6aTNAkvuF

| & Watch Video Solution

2. The parabolas y* = 4z and z® = 4y divide
the square region bounded by the lines
x =4,y=4 and the coordinate axes. If
S1, 83,53 are the areas of these parts

numbered from top to bottom, respectively,

then
AS;:5 =1:1
B.SzZS3 =1:2

C.5:5=1:1


https://dl.doubtnut.com/l/_lmU6aTNAkvuF
https://dl.doubtnut.com/l/_3InAPN4yBPxT

D.Slt(51+52) =1:2

Answer: A

° Watch Video Solution

3. The area (in sqaure units) of the region

1
enclosed by the curves y =z, z = 2,y = "

and the positive x-axis is

A.1sq.unit

B 5 it
. 5 9. uni


https://dl.doubtnut.com/l/_3InAPN4yBPxT
https://dl.doubtnut.com/l/_wrpwV508io4m

C > it
. 5 9. uni

D L it
. 5 9. uni

Answer: B

O Watch Video Solution

4. Find the area bounded by the curve

z? = 4y and the straight line z = 4y — 2.

Ol O


https://dl.doubtnut.com/l/_wrpwV508io4m
https://dl.doubtnut.com/l/_sPjQaNH8JJYe

N
| ©]|oo

o

Answer: D

o Watch Video Solution

5. Find the area bounded by the x-axis, part of

8
the curve y = (1 — —2) , and the ordinates
x

atz = 2and z = 4. If the ordinateat z = a
divides the area into two equal parts, then find

a


https://dl.doubtnut.com/l/_sPjQaNH8JJYe
https://dl.doubtnut.com/l/_OUA33mIBk5SW

A /2

B.2

C.2/2

D. none of these

Answer: C

o Watch Video Solution

6. The area bounded by the curves y = f(z),
the x-axis, and the ordinates x = landx = b

is (b—1)sin(3b+4). Then f(z) Iis.


https://dl.doubtnut.com/l/_OUA33mIBk5SW
https://dl.doubtnut.com/l/_O4YqQZIIli3L

(z — 1)cos(3z + 4) sin(3z + 4)
sin(3x + 4) + 3(x — 1)cos(3z + 4) None of
these

A (z — 1). cos(3z + 4)

B. sin(3z + 4)

C.sin(3z +4) + 3(z — 1). cos(3z + 4)

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_O4YqQZIIli3L
https://dl.doubtnut.com/l/_caEwoctYYbQz

7. The area bounded by the x-axis, the curve
y = f(z), and thelinesz = 1, z = bis equal
to /b2 +1— /2 for all b > 1, then f(z) is
VT —1(b) T +1+/2° +1(d) —

1+ 2

Ave —1
B.vx + 1

C. :1:2—|—1

T

V14 x?

D.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_caEwoctYYbQz

8. If y = f(x) makes positive intercepts of 2
and 1 unit on x and y-coordinates axes and

encloses an area of 1 sq unit with the axes,

2

then | zf’(z) dz,is

S~

>
DO| o

Answer: D


https://dl.doubtnut.com/l/_caEwoctYYbQz
https://dl.doubtnut.com/l/_jOZz0vVlBjen

° Watch Video Solution

Multiple Choice Questions Previous Years Mht

Cet Exam Questions

1. the area formed by the lines 2 — y* =0
andx +8 = 0is

A.16

B.32

C.64


https://dl.doubtnut.com/l/_jOZz0vVlBjen
https://dl.doubtnut.com/l/_DjyHsDjfd9ca

D. 128

Answer: C

° Watch Video Solution

2. Find the area included between the line

y =  and the parabola z* = 4y.

32 ,
A. 3 sq. units

5 23 "
. 3 59 units

C 2 it
.3~ 59. units


https://dl.doubtnut.com/l/_DjyHsDjfd9ca
https://dl.doubtnut.com/l/_rDujQIBmo0cd

D 51 it
-3 5. units

Answer: A

o Watch Video Solution

Test Your Grasp

B. 23


https://dl.doubtnut.com/l/_rDujQIBmo0cd
https://dl.doubtnut.com/l/_c5Kh3bArRXsp

N

Y
Wl | w

Answer: C

° Watch Video Solution

@ >
S R N I T

N


https://dl.doubtnut.com/l/_c5Kh3bArRXsp
https://dl.doubtnut.com/l/_m1LGAchQP9dd

Answer: D

o Watch Video Solution

3.y=x +sinz,....z =0,z

A +1

7
"4
B. = 1
1
7.‘.2
1
T

C. +1

2

D.— +1
3 +



https://dl.doubtnut.com/l/_m1LGAchQP9dd
https://dl.doubtnut.com/l/_iS7gMUJjgpGC

Answer: D

o Watch Video Solution

4,y =sin“z,.....x =0, x =

N
C[\'~D3|>] =3 oo 3
o Y IS NG

o
N | =
+
|

Answer: A


https://dl.doubtnut.com/l/_iS7gMUJjgpGC
https://dl.doubtnut.com/l/_WWJkMvgyE4qh

° Watch Video Solution

2

S5.xy=c",....x =c,x = 2

A. 2¢*
B.c%. log 2
C.2z. log 2

D.c?. log4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WWJkMvgyE4qh
https://dl.doubtnut.com/l/_LEALVajktJxW

f(z) = 322, if 0<z<2
=16 — 2z, if z= > 2,

6. If

then area bounded by the graph of y = f(z),
the X-axis and the line x =3 is (in sq. u.)

A. 12

B. 19

C.17

D. 24

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LEALVajktJxW
https://dl.doubtnut.com/l/_Z8vuoLuCFPVs

7. Area enclosed between the curve y? =z

and the liney=xis

>

@

O N
| = |+~ W

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Z8vuoLuCFPVs
https://dl.doubtnut.com/l/_fOjaTQztoSra

8. The area bounded by the parabola

y* = 8z, the x-axis and the latusrectum, is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9ADU6SsPPUos
https://dl.doubtnut.com/l/_wS9jZJsKQkB2

9. If the area of the region enclosed between
the curve y = 3z% — 4z + ¢, the X-axis and
the ordinates at x=1,x=3is 20, then : c =

AO

B.3

C.7

D.5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wS9jZJsKQkB2
https://dl.doubtnut.com/l/_Y5or8Tid29uy

10. The area bounded by the curve

r =2 — y — y? and Y-axis is

O
N|[w ot NN N ©

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Y5or8Tid29uy

11. Area bounded by the curves y = z — z?

and X-axis, between Y-axis and the line x =1, is

o Watch Video Solution



https://dl.doubtnut.com/l/_9KiMOQfJJHTv

